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Bl Question Mo, 1 g enmplsory,
1y o "o . H 4 | i
i1y 3olve zny four qEestions [rom she mememing sic guestions.
L1 Figures 1o the vight indicate Tull marks.

{23 Assume suitable data where necessary.

|, (o) Exglain retdle instroclions af PLCO1EF miciocontroller,

3

ib1 Explain hmction of DI ju 8086, 3
o) Explain Flag reaister of $0%6, :
{d] Explain significence ol BHE in B0HS e

2 u) Explain the [oilowing imstvctions of PIC LEF mecmoensteailer. 10

(i) CLAW {if) BTEG PORT €40 (i) ARDLW DSk (i TSLRD - [v) MULWE 0x13.0
() Drraw and sxplain inlerfacing of 3084 ‘-«'_?" BA5N -4 m

3. (u) With the help of fewchar/algorithm arite asssmbly language progtam for 8086 10

to arranpe 8 dua block of ten & hit numbers in asseading order. Assume the

r“.
necessary daca.

(b} Explain the instruetioo foomnt of TG LBT wicesconteoller. 14
4. (u) Explain  intecrpt strochine of 3086 11

(b] Exylain add-i.:sS[ng modes of FIC 18F micreeontrailer. 10
5. {a) Explain Interfucing of 5350 with JU8A in minitnum niodc. . 1k
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0

M.H.
lI Question 2.1 s comgrulsary
Adrampt ooy theee qrastions col of someintag live queskians
_Jg'-,g,l sptions rsie shoeld he elenrly stiated
4] ustrsbe woswesi with sketehos whicravs |r-|:|a|i'r-r.=||.

|_|:._|| ] Actampl any foar _ R R _| I
e P_ I.:'L“E:UL'IE ihe Shamoe-Harlles canncity I'||.-.|l1:|'l'|. —_— Ll
b [ Constder a by date sguence |0 W D the vomvefo e Tur the | |

giver bivary Jutn saqueacs, gl e palir R o i split phnse b blzncheste:, |
|T| Statz Lwn crilerin wlieh o samesd SUECiLUm CXLEY InLzarion - vslern nnest

_I_'

> 1 A T B} L Ts i
salisly. Dustify that Lhe spesd specton 3ignals o Linspmeat ta iac
ielerieiog signals, aod vice veme, X

jir s ——h ]
I_ 1 SV Eamain the oz ma e zoperen digilal mpc iy Lo et iy LJdes. Iﬁ—

chine endc cabg, sods efficicooy. sy pemniiz ad pon sysiemal in e
conbesl ol linear hlrzk code

i |
- =
— | - — _-I._.
[Consicer the five goe; |:|:-g".'|'|l_'|:.|,. u? .'-| discrele memoryless soarce wnd their i : —l
| | respective probabilities 2 O, 002, 52000, amed S0l !
if¥ Creaep Huf"m 1 Treg fos Mufaan saurme entiag techiiqae 12 Jind the | |
I codewnnd and leaga gl andewnads Tor cach sourcs aymbal. |
. ] iy Delencine the average codewad lenglh 2F (e 4 cpailed diserel |
AN YRS Branss, |
iiiy Comract on (s resels abeaiaed .-31
! L Gesoribe in eomwolution sodo Vios dorsis appropch, and |"L-"'-‘--"U~'i"| it .
I_ L demein approach 1o detsomine snecosr out c i H
= = _ DR
| u'.llf.- that the prubabi iy of LIIl'.lI t reakskad Filies dloes et dupzadoon e ] Gt

shivte al mpdl siemal, Derve the o epression
'|',-.I " Q.....-l.-q-,.-. |:-'..-r- “nl |=..: " ; .ﬁ!-a_: o

Parmlai= tha oAl i |
L | M R Lot

: e o
Describe colareat decetion maetbad al by PR smals Also Joes power |10 |
specta (on BESE deadulated sigeal. . |

]l -J""|1.._| SreLnLE IS 0N By, L Uil cale of a Dipola ML

e} 1 41) i 4]
it A T |
ri LR bardwinth rer eiemenl ol

SEIRRE 1= i h-‘..:-‘:ﬁ wod sarrier feaacncy o
i Crterming s symiol wake of tremsission &
! | i cameraenicaticns chaaael for

? 1ransmi

o= 0u0ing
[cﬂl 11

i) Reziy PER geeiin Z |
| i3] dEeaey ER sesen, = i - i ]
[T s
| 2| e ;ﬁ%::lmr-‘.m.' _|:'|:|L'.I{ a7 e, A% st s plock cods .'Ii'l.:*.rl_ e dim: ’ ) _-_i_'” !
| | Tl

I Famd the cofe Weeis, Pendy elzzk necns, e b crrar svarine e |
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A |1 S Find out the penerator Attt |
| ) Parity checks malnix. . T :
| i) . ; e gne sxphiin o receiued noa.
S Dirmw the syndrome calciial 3 ¢ ine. L I. !
| 15 corrected? e SR
vy g ¢ e Tollowing (any owa). — —— |
@6l Atterpt the folov plerfecence (151 and | I
- E lwr'm; eherl note on mtersymbol inlerference Lhat) _ TS
_ ) _ —— . -._- — i and wavef . R
R | Explain with the help o bloclk GIRErAnTa a'.L vdwlw,m“: tire fi KL |
|| technigues of spread speetramn communicalion, () Direet sequenge (4, |
||_ | Frequency hopping, i S TR —
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B (1) Question no. 1 is compulspry,

(2) Solveany three questions from remaining five questions.
(33 Inall four questions to be attempted.
(41 Figures tothe right indicete full marks.

{3 Hours) | 'Teaal Marks :80

2

. (8} Explain multirate signal processing with epplications. 20
o) Ifb(n)={1,2,3,4 } is impulse response of FIR Filter, Realize the filter
in direct form.
(¢)  State and prove Parseval's Theorem.
(d) Btate advnmag: and disaduantagg of digital filters,
3. {a) (i)  x(n)={1,2,3,4) find DFT of x(n) 10

| (i1) Using results obtained in part (i) and otherwise find DFT of
fﬁ"ﬂw'lng Sequences
a(n={4,1,2,3) b{n)=1{2, 3,41} en)=354 12}
din) = {4, 6, 4, 6} . | | "
() A digital filter is describe by the following differential equation
y(n) = 0.9 y(n-1) + bx(n)
(i) Determine b such that [H (0)= 1

1
' {ii) Determine the frequency at which THw))| =—qff"
‘ (it} Tdentify the filter type haa:.d_l'ch the passband.

1, (2) Ifx(n)={1234367 81, Find E{B"_} using DITFFT, Compare computational 10
| 1 ' ith DFT,
mplexity of above algorithm with T _ _ _
. [ 55?1{:1]:: the mapping from 3 plane to Z plane using Impullsf: ]mrana:m hethod 10
' 2 and E:Jcpiain its limitation. Using this methed, determine H{Z) if

3
= i T = 0.1 520
H(s) = (s+2)(5+3) (T
4, {3y  Design a Linear Phase FIR Low Pass filter of Length 7 and cut off frequency 10
. (a esi .
] rad/sec using rectangular window. i _ i
by If x(n) =4{1. 2, 3, 2} and h{n}l'f' {1._&. 1". i R
(i) Find circular convolution using lme dnmmni ethod.
(i) " Find lincar convolution using circular convolution,
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(1) 2 el and 1R filters. E

(b) Compare
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Wing siv queslions,

0

1}
i

. Haqs 1ok PR T, . E 1 r
2. () Wha s tf_mt.m. Areaals half wave dipele pperating at 3900 Hz.
(£ F.r.[}|jal1'| tf"*" stanificance al the term "E Tertive Ao
velationship berween effective aren aud dicectivii ¥ ofeny antenzi,
L) Dhenvetne acry Gretorafan W elemen un for e

eosdhitien B which e arave ol e e in
swnficenee.

|

Yacl Antonen,

iy Laplanm s dilTersnt tvpes ol harn aitennas, Fing i divectvine snd beanraidts,

S el Explamwith suitabls digaian, the workmzgof Log Pericod o Advene, Stz s jrractical

applications.
i

il
characteristics ol grastd waves'!

e

tiliern
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1 Tl equivalent noise e mperatarzs ot e ng
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) Demecand explain Yagi antecna. Skatch s mdiation pstern, Wi the

cxplam ihe dilTerent components of the ground waves, Whal gee leeguerey
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! Tokal marks - 1

© up: D Questionna, 1is compy|ser, -
) Attourpt day three quegs; 00t OF the: s
3) Assme suitahle dia if required ﬂhﬁng'w

] Answer the 1
8 mmmw i ons;

b ;
() 2{8) A discrele memory |
0% 3 below- =

™

Code , find ¢
code (if) find the Ave ke EHHG]TF of the souzce, Obian the Crffizany -1_'--;:—;3

I () Distinguish between Coharen i
coberent BFSK. receiver ang ]f_mai‘dmf:n coherea: detection, Draw the block p—

Q3 () Compare the following: an e

4 1) OOPSK and MSK ety ﬂm}:: poren
(if) Duo-binary and Modifieg I b .

(i} BFSE and BRSK 12d Buo binary encod ing

{iv} Linear block code with Convolutional code

1:5 :mI -i- m2+m3
Le =my + ™y + m,
'ET ‘——?T.'.l 'l' ]‘]‘]_3-1-]-]1*

() find the codewords f
4 find or the msp vectors : 101111
E:"E ;-?‘::lﬁ‘-;m.u:t ﬂil: syndrome look-np wahle. S
3 : rmuwc-:lundewmdisl[ﬂﬂlm, find the ermy 3 :
and compute the corrected endawaord, T R ook ke

Scanned by CamScanner



OF CODE: -

EE?IJri
R o
explain the fn!luwing: .
0 Gﬁs’fﬁpsﬁ a neat block diagram along with mathemag;,..,
for transapitied "fﬂl
indicall’ its Euclidian distance
|lation diagram and find its (17)
£ ; ial g(x)=(I+x"+
iy ih generator Polypom ; )
o Fo 1T e e mesage vectors: 1001, 1101 g
(i) Find b€ % method
divimon ; - s 11010
i e syadnome,if e eceived codeword i 1000 ®)
- f-ary QASK and determine the Eypetia
. 4 constellation diagrar for 16-ary the Buclidig,

Q.5 (&) Wwﬁ;ﬁm{ﬁkﬂm} Compare it with that of 16-PSK w:‘.ﬂcj; of thern has
heiter noise immunity ? (12)

() Ew[ﬁnﬂszﬁngﬂfﬁmﬁﬂﬂ}fmﬂ}dﬂm system with precoder. What are jis

drawhacks? How ere they overcome? : )

(16 (z) Explain the need for Equalizer in digital transmission system. Explain tapped delay lipe
Equalizer with a neat block diagram. ()

(6 For & convolutional encoder with code rate 1/3 and constraint length 3 and generaring
E-}’I?:tﬂfs gl=( liﬂ‘l},g?.:{ 110),83=(1113.dr ¥ the encoder and Sketch its Trellis

“ETEM WIT mimmum 4 stages. using this diagrane find the codeword for the inps
sequence 10101 . Also Find its fransfer fumction o

(0.7 {a) Derfve the expression for

o the Prokability of e; Filter (10)
(b) weite shori noteg on ; (1) GMSK ) Eﬂt}’m]—:ﬂ r of Matched Fi (10
——

——
— e emE— maa = o ——
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(3 My | Lol Sarks @ 108
i sl
B il :';u‘x.lu N COmplsary.
T o AR X S
F- | "-'-..-...-11_'\- t||1|| h||||'| 1'L:1'|'|,;'.|||1||!:l.|‘i1 LUesIans,
hEures othe . st indigage fiuly miatks

| Ll:l] IIIIIH ]ILl1 1% TI“': i“'r“-'l.lii:l.'llr_'.l l-l-i' L'|:II.1_'||_I|' I_I

i - urst im the back porch of CVS?
(np Lxplam chromaticiny dj

5
; i adram with a neat sketeh, 3
() Eriscuss an bricl abow Ryop =
idy -Justily the choiee of mouulation used for TV transmission. 5

1o ial Fx p|21:t|'| th apzration of SN separator with a neat g;ﬁ:t-i_!.“um- 10

(k) Explainthe werking of cable television with the help ot a neat diagram. 11

3. (a)  What are the cssential reguirements to be satisfied 1o make a colour 10
TV fully compatible with monochrome sysiem?

+ fa) Draw and explain vidicon camera whe. What do you understand by 10

‘dark carrent in vidicon?

(b) Draw composite video signals for two lines and explain the various 10
' - nis in details. ;
components i de o

5. ja) Explain the difference hg'r,j..;-':c:::n PAL and NTSC colour TV ﬁmnd.ards- 10
| (b1 Discuss in brief about televigion test charts used in troubleshoonng. 10

{ e i ine process in detail. 10
6. (a) Explain frequency interleaving process Ea )
M) lustify the role f interlaced scanning in determining video bandwidth. 10

' P w2 Write a s won 10
I ja] What is the basit principle of T4 camera tuhes. Write a short noe o

l-glele image SCanners. _ 1 [ g
{h) ?‘E‘:l lain the working of horizontal deflection system and the function o EHT. 10
Pl
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Sub:- TE

g Q-P. Code: 5556,

o . (3 Hours
».B. J. Questiog ne. ] g compul |:|\J
2 Angwg ton
any 1)
3 ASSIme o e question out of TEINEning questions
v Suilable daga p required
What are the ud\'.’il‘llﬂﬁ“

a ety (el o r y
of digitization in television svst

Draw & illustrate t);q differen 1 tms?
ISECHT vl AF v L e
Ddﬁnc ‘1513';:\.'.-\.-[ !_E“U i \;l'-“L ;J |d1'- le 'Ll:r'\.-.llr S I-ul.lj. d"-:[:l.l:t Ehl:l_ll.

: - Ee LA Slan frerd wrlihe mF s . . :
for the chaiee: ardized valye of aspel relio? Give reason
Define charactoperipe o -

r]hT]LE ut L‘D]I:'ILLL’: l.-'|.|m:i_ﬁ_ﬂ_'|l|_:{_‘;1 H]_”_-_ E]-"j Sﬂ[ﬂfﬂtiurjz_'
Diraw & explain ima . “
2C orthicon cam - S .
: era tuhe - ; .
disadvaniages. be in detail with'advantages &

Dascuss features of by p 5
= s .[.ld'l..[_. SYEIR Lf- } - ; ’
: 7 - Explain delay-line T4 ;

neatl diagram, P v-line AL methad with

Explain Chrogay —sampli - ik

: P i ]“."l sub-sampling and s Ivpes in ddelail.
._..II. ‘n. - 1. e B EE ] ' - =

ALelh ':."l..]-:l alry hll..l'..-.!-.. ':,I_:I-ﬁln_.\'_l NI |'|j T\T‘:li_ 'i.:l..:!Ih.il e e L

Paogadadcn PR R A Ao g e . .

PRI Lol GG D TGiisak ?n-:gii.ii] and state chemeitiisics of Pd=tvead

Write & note on wide high definition wlevision snd its stundards,

Explaim in brief duect i home felevision.
Explain difference between component digital video & composite vidao,

6, Wnte short note on (any foos)

e

lal  MLUISE svsrein

(h)  Merits and Demerits of LED display
ic] VSR conection.

(d)  Freguency Intarlecaving

(] Displays: Plasma. LCD & LEL.
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Q.P. Code : 588702

(3 Hours) | Total Marks : ki

o, 1 (1) Question Noul is compulsory,

: (2) Aucmptany three questions out of remaining
(3} Assume :suimhlu dats whenever required bu ju
(4} Assumption made should be clearly stted.

five questions,
stify the same.

L) Explain different file operations in brief.

5

(b) What are the characteristics of Real Time 089 3

(¢} What is system call? Explain any fjve system calls. 3

(d) Differentiate between Deadlack avoidance & Deadlock prevention, 3

1 tay Explain process-thread state tansition diagram in linus, 1
(b} Explain clearly how UNTX performs fle management using [-nodes, il

5. (a) Explain clearly paging und segmentation based memory management 10
techniques using diagram,
iby What critical section of a process? Describe twe colutions to achieve mutual 1
Exclusion of critical sections in an 0%,

1. {2l Consider the following precess i
Process Arrival time Service Time
P [ 8
. P, ] F
) P, 3 g
P, 3 3

Solve the above given reoblem with shortest remaining tme first by drawing
gantt chart and also caleulate the average waiting tme, wrnarourd time
and throughpun.

(B) Explain RAID with different levels. 1
] ; ‘ :
gl | Explain 1he working of EDF and RMA real time scheduling algorithms. 1n
1B} What is semaphore? Give an implementation of bounded buffer producer 10
comsumer problem using semaphore.
f

%) Define the meaning of a race condition? Use an Exceution Sequence to 10
N Hhustrgre VOUT amswer.
II Explain different file allocation technigues in an O5, [

e

B
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{2 Hours) [ Total Marks :

N.B.: (1) Attemp:any five ouestions.

-

Bratis I

. (2) Weaatareioc types of marke:? Explein alogopoly merket with sxample. 5

. {z) Whstis CRR. BR? How does RB.L usc this to contro! inflation? 5

L

7. {2} What rolt do banks play in development of nation,
g (i} *Tada develons scomomy’. Fanlain 3
1. {2} Explam Cleveland theoty of moivalion. 5
1 (P} Whst are the mer’s end demerits of line snd si=fi fyp2 o7 genizmional 5
- L= — -
Ewamn nnfa‘?
3

-y Foopulsie = marketing plan for 2 product
L a_'-' - = » ; ) ) : -':l
trad= poions oppese Tayior's managomed theory” 5

£, ' ?!‘:...'!' dlC
2
< s} Whet iz ticrole of FTRAI? . :
;W s Gifprent sources of rovemus fo g vernment’ 3
I R Wharams 102 OO0
i :
/] LIS e o L]
- T m J.: :f_"?:"::-“ L\.: _”:':'!__'Pu__.__ N . . : :
2k - Bl i = Thr TeLImime fresh talent 10 ao 5
" Ly - - I-rl'q:cl-"'l": J.-L-'il:'“ e 0L g
£ (@ Woai 15 o<
industry’
- ki L r"'l 'I:l'll'“ I n_l'-l_t? ._':
ajd dpwn by ine SOV s

s )TH wansmission 2 .

: g S
- ,.-a;- ':Tﬂ1‘111" E,’.-'J:E-Eh_.:\:l O : ‘; “II'I
Bt " e 42T i, o1 -....._JE]L&EI.JD_- J
7. () What gre the menis &% lemeT
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Q.1 lel: 875M
{ 3 Hours ) [ Total Marks : 100
R K
NB. (17 Queshon No.l is compulsory. =
(2) Solve any Four question from Q. No.2 to Q. I\n i3 &
i (3)  Assume suitable data if necessary, i "R r:,% i ;
4 (4) Support your answers with neat sketehes / diagrams, wherever r,-r:;':’ %
NECessary. o
I:. .|_ i
i Answer the following (any Twao) - 3‘1 =g
(1) Explain, how the ’r'ul]uwing information can be nhtmnc;:-ﬂ:u f'rn:rm
P processing the echoes - s . .
j (i) Range measurement; dn” l
i (i) Determining thz Location of target; X 4
. (i) Measuring the Velocity of targel. & i
(b) Define with neat sketch; Grazing angle, Depression mlgln: & Incident
: angle: for surface clirer patch, 3
(¢y Explain, the workin : of amplimde compaitzon mono-pulse tracking
v stem. A
- - 1.1’ 0
W What 1s the peak pover of the Radar, whose average transinitted power i
| 15 200 weatts, pulse vidth of ]_L."..". and PRF of 100 Hz.
P
2. (30 What are the vanous apr |]LE[LE}E':I?‘”-TI-1 Radar? Explam. 10

h b1 Explain, how change im *RF can resolve the range ambiguily problem 7 10

3. {2 What is RCS of target™ describe the chief characteristic of Radar echo 10
' from tzrget when its RUC> 15 in; : g ¥
(I} Rayleigh Rewie
(i) Resopunce Reion ~ i
i Oprical region.
{0} Draw ang Explain the op rration of simple CW Radar {Zero [F radar). 1

I A TR _ ) _ _ :
) Explaia the w orking of s weep to sweep substractor with waveform add v
o “5plain the operation of »ingle DLC with block schematic.
,,} What ape the ditferent pronerties of sea clutter 7 mw !
't:?:: TIRN OVER
e
O |
‘ 4
’ !
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Q.P. Code : 587501

2
g : "
5. (a) Hiw range is measured in FMCW Radar ? Explain FM-CW Radar with 19 |
'Iﬁ"n*-*_lt: schematic. |

(bY What is the limitation of single delay liné canceller 7 How Double delay 1p,
line canceller overcomes 1t ?

w a Block Dagram for e T?adar and Explain the 51g-mtlcanr:a.'ur ® .
STHLG and COHO. - L

.(b) State the classifications of Radar systems and E:-;plam High PR?E pulsed 10
Radar system viith neat <keich,

b, {:

7. Write short notes on (any ‘Two) : : ~
(a} High PRF pulsed Radar ' -
(b) Land Clutter . ! | l

(c) Conical scanning, target tra cking system
(d) Radar Displays
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g o Q.P. C\(det. 588801 ;
A e
I}' (3 Hours) [’Iutu!. Marks @ 80
g, (1} Question ONE ig eotmpulsory, gl . T i
(21 Seolve any THREE out of remaining questions, § r;h-
(3) Tiraw neat and elean dingrams, i x e
(4] Assume suitable data i required, o
fﬂ} F”r NMOS resistive load i inverter with R, = SUK find V,, and ¥

,r_1f'

AR S R R K =100 paiy:, ncnlﬁct by Lm-. c:’r’rELL andd, E.hﬂ1‘|r]~‘:| :
length modulation.

[o) With help of appropriaee circeuit dinrzm and wavelooms, ex ]]1'1111 charge
sharing problem of dynamic logic. How 1o overcome thie same. ’ J
i) Explain the sipnificance of Tevel - 1 MOSVLT mudcﬂ parameters,

k
(4} Lplement 41 MUX using ‘Iransmizsion gate tecitiology,
(¢} Fxplain advantages and disadvantages ol Pass Transistor logic in VLSA
Lesipn,
: g
r
Loim Explam working of ©MOS Trverer walh help of Yollage Transtor 1
Characterisues and devive expression for ¥, and V| :
(b Tonplement 1 - bt full adder eirevit nsing standard CMOS logie, dynamic 10
logic and pserdo NMOS logie:
! w® ]
3 da) Dheaw six rransistors SEAM cell and explain ils read O vead 1 owiite 0 4 i
atd write 1 operation wath the help ol appropriate wavelorms,
tby What is Carry Look Ancad {CLA) adder. Write equations far carty bits 10
of S-bit CLA [n ferms of input bifs anly 1.2 carry generate and carry
- i [} r 1 i it l
propagate and dnplement the same using domino lege, * {
b For 2 ippuc CMOS NAND gate find V. ¥, LV, ‘
fLit SHNA gate tind Vo, oV LY sand VO Assame 10
that baih the mputs are switching simultancously. r nmdm NMID‘; il
b Iﬂl.l‘:. with [llowing parameters. V= 5V V=1V,
||-_| |'|.][-H|_,-'l'l| |||r- 1||. L :._,t"i,..? .l"-. -—ﬂ{ll&p‘l.nrl ’_,.. I
i :

'fun NMOS lubrication ]‘.llt'll'_‘t"-.‘-. How with help of neat skeiches of 1o
Pprapriate masks and cross section al each process BLEDS.

TURNWER - i'

B *
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=

{a)

and "TL00" i e Moy,

by Explain the etfect of Interconneet

parameters of V1 5] Circuits,
(€} Draw layout of 3 ransistor (3-T)

Write short notes onany FOUR -
{#) Power Distribution schames
(b Atay Muthiplier

(e} Ilerconmeet Dhelav M|

(d)Y NAND Flash Mcmnr}r

el Coluymn Decoders

Implement x4 NAN Dha:.ed ROM array 10 store "100]™

Q.P. Code : 588801

"0101". "1010" =

scaling on varipus performance 10
DRAM el

tn

using lamhda niles.
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